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The City School 
Southern Region 

 
Reinforcement Worksheet 

Mathematics 
Class 3 

Topic: Multiplication and Division 2 
 
Name: _________________________  Section: _____ Date: __________ 

Time: ___________ 

Q1 Encircle the correct option.     

I) A number multiplied by zero results in ______________ 
a) Zero 
b)  Number itself 
c) None of above 

 
II) A product of 107 and 7 is _____________ 

a) 756 
b) 749 
c) 879 

 
III) The numbers which are divisible by 5 always end with  

a) 0 
b) 5 
c) 5 or 0 

 
IV) Product of even number is always _____________ 

a) Even  
b) Odd 
c) Both 

 
V) 960 divided by 2 is ____________ 

a) 400 
b) 480 
c) 390 
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Q2 State whether each of the following statement is True or False.  

a) When 261 are multiplied by 8 the answer is 2088.  

b) To multiply by 100 simply add 2 zeros at the end of the number.  

c) When 422 is divided by 10 the answer is 4.  

Q3  Write it vertically and then solve.        

a) 2382 × 9    b) 1965 ÷ 3 

 

 

 

c) Write the square of the following numbers.         

6 8 9 

   

 

d) Solve the riddles.    

i) I am a number who is not divisible by 6 but by 3. I am between 25 and 30. Who am 
I?  __________________ 

ii) I am divisible by 7 and my unit digit is 6. Who am I?  ___________________ 
iii) I am divisible by 8 and 9. My digits have total of 9. Who am I?  ________________ 

Q4  

a) Ian bought 4 apples at 23p each and 3 oranges at 32p each. Find the total amount 
of money which he has to pay for both of the fruits.     

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 
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b) Find the change if he pays $10.    

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

 

Q5 The group played in a concert. Their earnings are shared amount the group 
members equally. How much earning did each group member earn if: 

a) Four members earned $76   
_____________________________________________________________ 

_____________________________________________________________ 

b) 5 musicians earned $ 85.    
_____________________________________________________________ 

_____________________________________________________________ 

c) Find the total amount of money which both the groups earned altogether. 
_____________________________________________________________ 

_____________________________________________________________ 


